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Instruction:
(i)ﬁ There are in all 30 questions in this question paper. All questions are

compulsory.

'(ii) Marks allocated to every question are indicated against it.

(i} Question No. 1 is muiltiple choice type questions. Question Nos. 2 to 6
are of one mark each. Question Nos. 7 to 15 are of two marks each.
Question Nos. 16 to 24 are of three marks each. Question Nos. 25 to -
30 are of four marks each.

1. wmimmémﬁm%m%ﬁwﬁlﬂﬁﬁmmﬁmmﬁ
fafa  1x6=6

Four options are given in each part of this question. Write the correct answer in
your answer book.

(@) s farera 1 pH = Bl & ~

The pH vaiue of acidic solution is-
(i) pH>7Z - (i)  pH<7
(i) pH=7 ) (iv) pH= 14

(1] _ [ P.T.O.
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() wiler T e g & -
The chemical formula of ethanol is- o
() CHOH I (i) CH,CHO

(i) C,H,OH . | - (iv) CH 3COOH B
() wﬁa%%ﬂmﬁ%\%aﬁmmm% wE-
(i) B | : (i)  oReRar
(iii) gﬁ??[ . ' | - (i) Qf‘\iﬂzﬁ -
The human eye forms the image of an object at its—
(i) Cornea ' iy Irs
(i)  Pupil | - ~ {iv) Retina
(o) e FarvarwR &7 51 9 & : |
) 3m | - @) TERR
(iiy. @ee - - (iv) 3¢t
The ST unit of electric potential difference is- _ _
(@i Ohm | @) Ampere
(i) Volt | ~ (iv) Joule
(%) ﬁﬂ%ﬁaﬁﬁﬁaﬁqwag'ﬂtﬁq% | -
(i) sifiees e (i) I
(ul) _ E‘:@i‘%ﬂ | : (lv) Eﬁ'ﬂﬁ%ﬂ#
Which of the followmg is an anlmal hormone-
(i)  Auxin e (i)  Cytokinin
(i) Gibberelin. (i) Thyroxin
() a3 & 9T saud #- Sy A
() DEFISEINETAES (i) 3T
(i) A (iv) e\
The main constituent of bio-gas is- -~ =~ = . .
(i}  Carbon dioxide L ey (i) . Ammonia
(m) Methane (iv) Ethane _
2. ma@mwam%@ﬁﬁwmwaﬁmﬁmﬁaﬁ%l 1
~ Write the name and symbol of a. metal that exists in liquid state at normal
temperature _ '
233 (HUT) o 121
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3. SFA @I Y@TeT gy : | | 1

What is the basic event in reproduction? _
4. e Z9vr & &Y 3w foRed . o | | 1
Write two uses of Concave mirror.

5. waEad ewr e dgager | | 1
What is alternating current? '

6. qﬁaﬁwﬁﬁ%wﬁ'maﬁaﬁa’raﬁﬁ%m%ﬁaﬁi | 1

" Write the name of two elements used as nuclear energy

7. A W @ e g A & swn RiRe| | o 2
Write the chemical formula.and two uses of Baking Soda.

8. @& Al & T ugfy & e R Fr=r difiet @1 amesor Sitse- 141=2
Nominate following compounds on'the baS|s of Organic Compound Nomenclature
System : '

iy T
(®) H—e—C—OH . (@) H-¢-C=0
& H H H
9. (&) maguﬁa@rmﬁagr:ﬁqarqm%ml - . - B
Write the name of hormone secreted from Thyr0|d gland -
(@)mﬁmaﬁmﬁmaﬂw%ﬁaﬁl . S
erte the name of enzyme found in Saliva.

10. <HaT T dT &2 mewmﬁmmwﬁmﬁm# 2
What is blopd_pr_'essure? What is the approximate value of normal systolic pressure
and diastolic pressure?

11, mﬁ%ﬁmﬁmqﬁaﬁfﬁmﬁ%—qﬂ%%ﬁmmﬁa%? S 2
How are mvoluntary actions and reﬂex actions different from each other?

12, 200 uﬁ%rtra%‘raﬂéﬁgasﬁi’r 5Aﬁgaerma?'r‘rél 30%ugﬁ3a:rma?rm_

| ;21 1o | , 2

- An electric iron of resstance 200 takes- a current of 5A. Calciulate the heat
developed in 30 second. | ' ' '

233 (HUI) ‘ L3171 ‘ .. [ P.T.0.
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13.

14,

15.

16.

(@) A g e Y v g ) afek adt  ad B

Why don't two magnetic field lines intersect each other? - .

_(@)maﬂﬁmméﬁ - S | 1

What is Ohm's law?

(@) qﬁaaaa%mmqﬁaasﬁmﬁﬁﬁmﬁaaﬁgaaaﬁmﬁ@waﬁ%‘?

What is the far point and near point of the human eye with normal vusnon'f'

(@) 2.5 D & aTet o Y Braw gl I | | 1
Find the focal length of a lens of Power 2.5 D. _ '

TR faEusT | 3T FOT GHEd #? JERRYT daX SHERd 2

‘What do you mean by Nuclear Fission? Explain with example.

1 8T & 519 (et IaE Wi ffed)- 1+1+1=3

- What happens when (Write only chemical equation)-

(F) <o-a IR W WY vaEd & 7R

Steam is passed over red-hot iron.

(@) s ssitaTEe @) Yafifrw ool & W T R s 21

- &« Manganese dioxide is heated with aluminium powder.-

(m fakar of & o wmsgioriiRes swer 2 fosan o et )

Bleachlng powder reacts with dil. hydrochloric acid.

~ 'ieEi (OR) | .
ﬁn%%aa%rmﬂﬁauﬁmﬁaa?ﬁw O 1+41+41=3
Define the following with examples- ” o |
(@) W |
Roasting

(@) Freams
Calcmatlon

(M) I
Amalgam

17, (&) mqﬁmmmﬁwﬂ%mmﬁﬁﬁmaa@asm%ml .
Write the name of elements present in first period of modern periodic table.
233 (HUI) L [41]
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19.

20.

21.

22,
~ In the given circuit diagram, Calculate-

(W) TP T B AT (O 2, 8, 7 &1 et TR H FHD T a2 TR Fagd |
_ _ 1
The electronic configuration of an element is 2, 8, 7. Write its period and
group in the periodic table. '
(M) B a ‘M IET AR B AR 99E 5 21 390 HiawEs o 9 ke 1
~ An element 'M' is present in third group of the periodic table. Write the
formula of its oxide. ' '

. FfeRea & soagie fowg dwa - 1+1+1=3
Draw the electronic dot structure of the following- '
(&) NH, - (@) H,S - {m F,
(@) TIURTIOT B TRURTIOT ¥ 319 a7 Ter) &7 . 1

What do you understand by self-pollination and cross- pollination?
(@) THlehl Bd 3vfehil I & 3710 30T THed 89 Wi & U a0 afoel - 2
What do you understand by unisexual . and blsexual flower? Give one

~ exampie of each.

aﬁﬂaﬁﬁmtw)wwﬁammmﬁﬂ%ﬁmmamﬁsﬁ 12+1%=3

() & (iy gt (iii) . df@Er
Draw a neat & clean diagram of a neuron and label the following parts in it-
(i} Nucleus | (i) Dendrite _ (ii) Axon

i 31ET (OR) | -
IO (WD) B W vd Ty e afor) | 3
Describe the structure and functioning of 'Nephron'. . c
() DD W= R IS T aey & oty & 0 fafad) . 1
) Write the name of two p‘Iants raised by vegetative pr"opagation. _
(@) THATT § 969 3T B IATER0T S THARA |- | 2

Explain'the Analogous and Homologous organs with example. | :

& m uRaw 3w & worr - . - . 1%+1%=3

. 200 10Q
X TV \ y
O\ ' SQ 250 1
I o\
I [——@®—
. _ 24V . : o
233 (HUI) ‘ . 5] _ ' - [ P.T.O.
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23.

24,

(@) aRuw &7 Het wRRYE N
Total resistance of the circuit - |
(@) aRwer # sarfea gor e

Total current ﬂowmg in the circuit’

_ 5cmm@aﬂaﬂﬁﬁwwcmmﬁméﬁiﬁma&masmzocm@uw |
oy &1 s i Refdy, sl o s e el 3

An object 5 cm in length is placed at a distance of 20 cm infront of a convex
mirror of radius of curvature 30 ¢cm. Find the position, nature and size of the
image. ' ' '

mzn(on)
masﬁaﬁq%rwmﬁ:mé? wemmmmmmamm

- 9 B &7

What is meant by spectrum of light? Which colour of spectrum deviates the

most and which the least?

AR ARgAvEet 3 S okt R e &2 mﬁaaﬁaﬂw%ﬁamaﬂahqmaﬂm

vwga%? - 3

How Ozone layer is formed in our atmosphere'-' Write chemlcal equation. What
is the importance of ozone Iayer'? ' 4

25. (@) aﬂéaasa‘rmasqm%ﬁﬁl - : i 1
Wnte the name of two allotropes of carbon
(u)mﬁmﬁﬂﬁmamﬁmma’? e N
Aqua regia is prepared by fresh mixture of which of the two acids?
(M) eriFERor Sfifs @ & v ReRor el 1
What is neutralisation reaction? Give one example. .
(=) Hfzaw og o i & do f W Wi @ ST @ | 1
"Why is Sodlum metal’ kept |mmersed in Kerosene oil? -
26. (®) mau&m%?mammﬁm | - 2
' ‘What is homologous. series? Explain with _exlample.,
233°(HUI) | T 6]
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(@) mmﬁmﬁmwmﬁ?mmﬁmmmm
A | - 2

What do you mean by Redox reaction? Identify the substances that are

oxidised and reduced in the following reaction-
Zn0 + C - Zn + CO

' 3t (OR) _
(@) e % mate g faled- 2
(i) fem ol - - o -
(i) AR 306 AR
Write chemical formula of the following-
(i} Bleaching Powder |
(i) Plaster of Paris o
(@) foe = wftra ool foRed- . o 2
(i) SRS | -
(ii) HeTROT
Write short notes on following—
(i)- Detergent
(n) ‘Corrosion

27. (@) W(m)mmﬁ%mmwﬁ# | 2
What do you understand by Regeneration and Buddlng?‘ B '
(@) oo e, P S e veR Rm e we bl 2
| How is the process of pollination different from fertilisation? Clarnfy
28. ﬁgﬁmamqmﬁmmwm%@aaaﬁ%ﬁraﬁmﬁl 4
Explain the principle and working of electric motor, by drawing its labelled dlagram
JAd1 (OR)
(@) a‘rﬁgaaﬁ‘mawsﬁm 60W, 220V T 100W, 2zov3¢ﬁ>—cr%l LA
froer wfeRIe sf®B Bvre. | 2

Two electric bulbs A and B are marked 60W, 220V and - 100W, 220V
respectively. Which one of the two has greater resistance? -

(@) fieE o S g wE W anenRa & gfeal & Am e 2

Write the name of two devices based on heating effect of electric current.

233 (HUI) " [721 . - [ P.T.O.
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29. (&) FERe A9 Tar &2 39% FarvS foe 6w veorR & o o1 wam s9r° 2
What is hypermetropia? What type of lens is used for correcting
hypermetropia? | | '

(=) o, ag & 1 sma%ma?rlazﬁmaﬂmﬁl ot e o e
gnir? (aqﬁma?ram =3x10°ms™!) : 2
‘Light enters from air into a glass plate of refractive index 1.5. What will be

- speed of Ilght in glass? (speed of light in alr-3x103ms )

30. () fRye) e a1 &? & S B 0T F9l B Tifeer 2

‘What is Chipko-Movement? Why should we conserve forests? -

() T3 F FFRTONT Hi qUT TEBRONG Wi B FATEROT 2AR TR | 2

Define non-renewable source and renewable source of energy with example.
. 34t (OR) .
(@) ﬂaﬁﬁmﬁammﬁaﬁwﬂmﬁwmﬁmmm# ' 2

What do you mean by 'biodegradable’ and non-blodegradable substances?
(@) & Rl & vaea B w4l avaed & Tl . 2

Why do we need to manage our’reso‘urces? Explain.

% %k k& ¥k

233 (WU [8]
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